L ROIE AH|IQIZ|A Al2|=

ZW Series

@& 14: M5~R1/2
@=HEZ EH: g4~¢12

L ZYHTRE I| S8
a2, FHEH2 1 No.CB-024S @
Hoil

iy

o llg

=5 AFQF

ﬂ-

° .

51 § o=

55 Aeed % 27|

Ho @

33 A 43 MPa 1.0
T KPa -100%2
wloF
e °C -10~60(Et, 52 I8 %)
. ADE L}AZ EH(F-15%%)
° T SaEF EH(U-925%, U-95%%, NU-*>)F

Y 1. EHO X3, AIS 2 H9| 3 AI2 =S 2ot 22 HE 7|7] 8 (No.CB-024S) JIHZ 1= Axe] FAAS.

H’“o 72 Q2|Et EB(U-925%kk, U- 95** NU-k)2 0|23}0] ZIZYOR AR mj= QIME S W FAHAQ.

=l (4% YAZ0|DE CKDE 22J8) FHAIR))

H ro

- MEHIISE

&l W

L FIPN

~ & 12 04, 26, @8, 910, @12

Ho P4 hd @ UNIIE O FHM7IE A 2o TR [Ty e

Z-8x 7]7| SBH(CB-024S)'S AHESH FAAILQ.

=
~
K{ =
K £ @ 7|Et =%
of s |AEg0|E 4 |o4 M5 |M5x0.8 D |D¥
N
Fo T g ﬁg 6 |R1/8 X |4¥3s=
T (%= 10 To10 8 |R14 1 THOj EFl= 1oHRILICE
% TR HEztd 12 212 10 R3/8
= Y |vax= 44 | o404 15 |R1/2
FY |FvH 46 | 0406 0 |[UAMEE
u wYy |[2zv# ‘;3 f’g'“i 4P 2 =81
c = 66 T oto5 6P |068 E2{1
MF jLZEE 68 2628 8P 288 EZ8|1
K 610 | 96010 10P |g102 =80
KO
=0 86 | 0896 12P |p128 2|1
i ] 88 2828
= 810 |8-010
~ 108 | 010-08
1010 |210-910
- 1012 | 210-212
% 1210 |212-910
= 1212 | 012912
3
=
ok
T ¥y
O U=
g H
ﬂ-
o
o 3
Rl B

538



ZW'P4 Series

o K+
. A . e |
QY K|k M AEYO|E-HIH E-AEY0|E-0|H AEY0|E
M7 AE0|E SEC
@ZW-S[I-[1-P4 @ZW-S[I-[1-X-P4
]
i
M B HSZtdE) M B H(SZ thiH) okl
/ X\ »f E?.
1 = ] ) )
L HF  x T X i
_ | S] ] I s y
1 - | Y Eﬁ =
5w
>AL A -
L L
B L d L 1>
doru
20
M5 EtQ!
A
S Hgd L A ﬂi ﬁqii (7]
3 = RLE
CEY) Xé mm? - L > %
ZW-S 4-M5-P4 M5x08| 10 | 11 | 215 | 34 | 16 |25] 4 -
ZW-S 4 6P4 | 4 [R18] 10 | 11 | 205 | 8 | 16 |25| 4
ZW-S 4- 8-P4 R1/4 | 14 | 158 | 195 | 11 | 16 |25| 4
ZW-S 6-M5-P4 M5x08| 12 | 135 | 23 | 34 | 175 | 25| 4.4
ZW-S 6- 6-P4 | o [R1B[ 12 [135] 23 | 8 | 1754 [103 Ok
ZW-S 6- 8-P4 R1/4 | 14 | 158 | 235 | 11 | 175 | 4 |[103 =
ZW-S 6-10-P4 R3/8 | 17 | 191 | 215 | 12 | 17.5 | 4 |10.3 =
ZW-S 8- 6-P4 R1/8| 14 | 158 | 28 | 8 | 19 |5 175 T
ZW-S 8- 8P4 | 8 |[R1/4| 14 | 158 | 27 | 11 | 19 | 6 |224
ZW-S 8-10-P4 R3/8 17 19.1 | 22.5 12 19 6 [22.4 xawt EENER o
ZW-510- 6-P4 R1/8| 17 | 191 | 31 | 8 | 2155 |175 o L 7o | 7 | croi
ZW-S10- 8P4 | o [RWA4| 17 | 10.1[ 325 | 11 | 2158 [305 & XIE |ng | mm* I
ZW-S10-10-P4 R3/8 17 19.1 | 28.5 12 215 | 8 |30.5 ZW-S 4-0-X-P4 | 4 14 33 16 75 [M12x1| 13 |25] 4 =
Z\W-S10-15-P4 R1/2 22 24 26.5 15 215 | 8 |30.5 ZW-S 6-0-X-P4 | 6 17 36 17.5 9.5 |M14x1| 15 | 4 | 10
ZW-S12- 8-P4 R1/4 19 214 | 35.5 11 23 8 [355 ZW-S 8-0-X-P4 | 8 19 39 19 12.5 | M16x1| 17 | 6 | 22 N
ZW-S12-10-P4 12 | R3/8 19 21.4 | 30.5 12 23 |10 | 40 ZW-S10-0-X-P4 | 10 23 445 | 21.5 18 | M20x1 | 21 8 | 30 A‘W'\En
ZW-S12-15-P4 R1/2 22 24 29.5 15 23 10| 40 ZW-S12-0-X-P4 | 12 26 47 23 205 | M2x1 | 23 | 9 | 35 *#
AERO|E 0|4 AEZ0|E
@ZW-S[1-0-P4 @ZW-S[1-0-P4
H
t
3
T
=
K-}
K
B B B2
4m
(13
I} I’y ]
o] sy L]
17 it ) ity 1 11 R AL - -Bx Q
1 i 11— - v N
=
[
L L o=
- . oﬁ
2
30
é
=
2
N
N
Ko
i xg3 e 52 on
o g 7| ey Hgn B e Hal ox [aes
Xg | mm L (o 7Y | oy =
AZ|lB= 2 I
ZW-S 4-0-P4 4 33.5 16 10 25| 4 — — X|& | mm o =2
Z\W-S 6-0-P4 6 36.5 17.5 12.5 4 | 10 ZW-S 46-0-P4 6 4 36.5 17.5 16 125 |25| 4 zz =
Z\W-S 8-0-P4 8 39.5 19 14.5 6 | 22 ZW-S 68-0-P4 8 6 39.5 19 17.5 14.5 4110 T I
ZW-S10-0-P4 10 45 21.5 17.5 8 [ 30 ZW-S 810-0-P4 10| 8 45 21.5 19 17.5 6 | 22
ZW-S12-0-P4 12 47.5 23 20 10| 35 ZW-S1012-0-P4 12 | 10 47.5 23 21.5 20 8 | 30

CK 539



ZW'P4 Series

RPN 0|3 x|+ BT U Aok XX DY KX
Series
Hyds 1]
@ZW-L[I-[J-P4 @ZW-L[1-0-P4
a2s
Hozm
[
e i
Kk ‘ L
s ‘ y
o = |
== | B
HO 1] 5
TR < < A 1
2% M L =
M5 EfR! Y =z
y . 300
-
oE B0 g
N
N Hga Ll ¢ [lde —
Eﬂ CIEY) ! 2 xé ety .
ZW-L 4-M5-P4 M08] 8 | 15 | 18 | 34 | 16 | 10 |2.5] 3.2 DL
ZW-L 4- 6-P4 | 4 |[R1/8] 10 | 205|185| 8 | 16 | 10 |2.5] 3.2
ZW-L 4- 8-P4 R1/4| 14 | 24 | 185| 11 | 16 | 10 |2.5] 3.2
ZW-L 6-M5-P4 M508] 10 | 15 | 20 | 3.4 | 175 | 125 |2.5] 4.2
£n|] ZW-L 6-6-P4 | . [R1/B[ 12 [ 24 [ 21 | 8 |175]125]4 ] 8
= ZW-L 6- 8-P4 R1/4| 14 275 21 | 11 175 125] 4 | 8
%” ZW-L 6-10-P4 R3/8| 17 | 29 | 21 | 12 |175|125] 4 | 8
Fo ZW-L 8- 6-P4 R1/8] 14 | 255 235] 8 | 19 | 145] 6 | 18
ZW-L 8- 8-P4 | 8 |R1/4| 14 | 285|235| 11 | 19 | 145| 6 | 18
ZW-L 8-10-P4 R3/8] 17 | 30 |235| 12 | 19 | 145| 6 | 18 ne HA ] on
ZW-L10- 6-P4 R1/8] 17 | 28 | 27 | 8 | 215 175 |6.5|24.3 L] grg| - c 7Y e
ZW-L10- 8-P4 | .o [R14[ 17 [31 [27 [ 11 [215[176] 8 [27 ° x| mm
ZW-L10-10-P4 R3/8| 17 | 325 | 27 | 12 | 215|175 8 | 27 ZW-L 4-0-P4 4 |185] 16 | 10 | 75 | 42 | 11 [25] 3
ZW-L10-15-P4 R1/2| 22 | 355 | 27 | 15 | 215|175 8 | 27 ZW-L 6-0-P4 6 | 21 [ 175|125 85 | 42 | 1354 |75
ZW-L12- 8-P4 R14| 19 | 33 | 295 11 | 23 | 20 |8.5] 33 ZW-L 8-0-P4 8 | 235 | 19 | 145 | 95 | 42 | 155 | 6 | 17
ZW-L12-10-P4 | 12 [R38 | 19 | 345|295 | 12 | 23 | 20 | 9 | 35 ZW-L10-0-P4 | 10 | 27 | 215 | 175 | 11 | 42 | 185 | 8 | 255
ZW-L12-15-P4 R12 | 22 | 375|295 15 | 23 | 20 | 9 |355 ZW-L12-0-P4 | 12 | 295 | 23 | 20 | 12 | 42 | 21 |10] 34
§ kTl X| = D& X|=
] @ZW-TJ-[1-P4 @zZW-TJ-[1-D-P4
H
‘OE L1 L2
N A
ro
<_.‘A B
) .
g - ]
| A M 7“ 7777:77 T h7 %
1 1
! 3 3 M i
M5 Ete) H(S2t ch) i
v ‘ ) ==
iy M
KO
=0
il
3 2 [ oy Hal oz
o aea L | L c |7 (e aga Lfe|a c |7 [ee
e S s e
— ZW-T 4-M5-P4 M5x08] 10 [ 165]185] 3.4 | 16 | 10 [25]4.3 ZW-T 4-M5-D-P4 Msx08] 10 [165[185] 3.4 | 16 | 10 [2.5] 4.3
2 ZW-T 4- 6-P4 | 4 [R1/8] 10 |205|185| 8 | 16 | 10 |2.5] 4.3 ZW-T 4- 6-D-P4 | 4 [R1/8] 10 [205|185| 8 | 16 | 10 |2.5| 4.3
= ZW-T 4- 8-P4 R1/A| 14 | 24 [185] 11 | 16 | 10 25|43 ZW-T 4- 8-D-P4 R1/4| 14 | 24 [185] 11 | 16 | 10 |25/ 4.3
= ZW-T 6-M5-P4 M5x08] 12 | 20 | 21 | 3.4 | 17.5 | 12.5|25]| 4.3 ZW-T 6-M5-D-P4 M5x08] 12 | 195 | 21 | 3.4 | 175 | 125 |2.5] 4.3
= ZW-T 6- 6P4 | o [R1/B[ 12 [ 24 [ 21 | 8 |17.5/125] 4 |05 ZW-T6-6DP4 | . [RIB[ 12 [ 24 [ 21 [ 8 [175]125] 4 [105
oF ZW-T 6- 8-P4 R1/4| 14 |[275| 21 | 11 | 175|125 4 [105 ZW-T 6- 8-D-P4 R4 | 14 [275] 21 | 11 [175]125] 4 [105
ZW-T 6-10-P4 R3/8] 17 | 29 | 21 | 12 | 175|125] 4 [105 ZW-T 6-10-D-P4 R3/8 | 17 | 29 | 21 | 12 | 17.5] 125] 4 [105
_ ZW-T 8- 6-P4 R1/8] 14 | 255 | 235| 8 | 19 |14.5] 6 |235 ZW-T 8- 6-D-P4 R1/8 | 14 | 255 235] 8 | 19 | 145 6 | 235
I §4 ZW-T 8- 8-P4 | 8 [R1/4| 14 | 285 |235] 11 | 19 |145] 6 [235 ZW-T 8- 8-D-P4| 8 |R1/4| 14 | 285 |235| 11 | 19 | 145]| 6 |235
S §° ZWT 8-10-P4 R3/8] 17 | 30 | 235| 12 | 19 | 145] 6 |235 ZW-T 8-10-D-P4 R3/8 | 17 | 30 | 235 | 12 | 19 | 145 | 6 |235
RE ZW-T10- 8-P4 R1/4| 17 | 31 | 27 | 11 | 215]175] 8 |335 ZW-T10- 8-D-P4 R1/4| 17 | 31 | 27 | 11 | 215]|175] 8 |335
3, ZW-T10-10-P4 | 10 [R3/8] 17 [325[ 27 | 12 [215[17.5] 8 [335 ZW-T10-10-D-P4 | 10 [R3/8 | 17 | 325 | 27 | 12 | 215 | 175| 8 |335
{0 @& ZW-T10-15-P4 R1/2| 22 [355| 27 | 15 | 215|17.5] 8 |335 ZW-T10-15-D-P4 R1/2| 22 | 355 27 | 15 | 215|175 | 8 |335
&l 5T ZWT1Zz 8P4 R1/4 | 19 | 33 | 295 ] 11 | 23 | 20 [8.5] 37 ZW-T12- 8-D-P4 R1/4 | 19 | 33 [295 [ 11 | 23 | 20 [85[ 37
ZW-T12-10-P4 | 12 |[R3/8| 19 |345]295] 12 | 23 | 20 | 9 | 41 ZW-T12-10-D-P4 | 12 |R3/8| 19 [ 345|295] 12 | 23 | 20 | 9 | 41
ZW-T12-15-P4 R1/2| 22 375295 15 | 23 | 20 | 9 | 41 ZW-T12-15-D-P4 R12| 22 375295 15 | 23 | 20 | 9 | 41

540

CKD



ZW'P4 Series

o/ K|+
= A -
QI8 KAE: XI=-0/F K= Y& K=-YT Y K=
PNES 0|3 X|=
@zZW-T1-0-P4 @zW-T-0-P4
]
nl )
]
‘ L L L L i
B BZ& B ra
- > 1)
A A
______ o Elleeeaee]t 1
T e E e E—— ] S I — 1 S e
‘ o — z v ¥
4 A y v
o | E
! o
2-gE ' 2-gE
N N
_F F
wm |2 c e E13 -
s oy HEH QA g 2| on
420 xig | mm* L | L. c 7 | v [T
= = by
ZW-T 4-0-P4 4 [ 185 | 16 10 4.2 11 75 (25|36 X[ | mm g
ZW-T 6-0-P4 6 21 175 | 125 | 42 | 185 | 85 [ 4 |97 ZW-T 46-0-P4| 4 | 6 |21 [21)|16|175[125[/4.2[135[8.5|2.5| 3.6
ZW-T 8-0-P4 8 | 235 | 19 | 145 | 42 | 155 | 95 |6 | 22 ZW-T 68-0-P4 | 6 | 8 |235[235|175| 19 [145(/4.2|155(9.5| 4 [ 9.7 s
ZW-T10-0-P4 10| 27 [ 215|175 | 42 [ 185 | 11 8 | 30 ZW-T 810-0-P4 | 8 | 10 [275]| 27 | 19 |215|175[4.2[185[ 11| 6 | 22 ,},’,;1‘,‘5”
ZW-T12-0-P4 12 | 295 | 23 20 4.2 21 12 |10 (355 ZW-T1012-0-P4 | 10 | 12 [295[295]215[23 |20 |4.2[21]|12| 8 | 30 *
Y8 x| = A7 Y K=
@zZW-Y[-0-P4 @zw-yY[-O-P4
Hr
5]
B 2
B1 B2 457 :
l - >
] (Y I L2
mr- ] =
A ] H | {1 x
i D)y I N A - { = D.I { ‘ } a
A [ L Hece==aldd
— 1" a P e | H 7 I
IR I Bl 15 At = n = Y / f 1 G} i
! FE=—= v . -
P Dy R - , M H(8 2 ch) \2-9E
AS <N—2>l 2-0F B= M - L -
1
L . M5 Efel
TS A | e |
S5 e 5 it
ZW-Y 4-M5-P4 M5x08] 12 | 38 [3.4| 16 [ 21 |42 |11 [23]| 11 [4.5
ZW-Y 4- 6-P4 | 4 |R1/8|12|42| 8 |16 (21|42 |11 [23| 11|55
ZW-Y 4- 8-P4 R1/4| 14 [455| 11 |16 [ 21|42 |11 [23]| 11 [5.5
ZW-Y 6-M5-P4 M5x08| 14 | 41 |3.4|175[ 26 | 4.2 [135[255| 135 4.5
o ZW-Y 6- 6-P4 R1/8| 14 |46 | 8 |175]| 26 |4.2 135|255 135]|17.5
R} oA "2
s Hﬂﬂﬂﬂnﬂﬂ ZW 6 8P4 | © [Ru[1a |40 11 {175 ] 26 |42 [1a5] 258 135 175
AZ%|B X mm? ZW-Y 6-10-P4 R3/8[ 17 | 505 | 12 | 175]| 26 | 4.2 [ 135|255 135)17.5
ZW-Y 44-0-P4| 4 4 |35/16({16]10|21({4.2{11|23[15[125|11 | 3.6 ZW-Y 8- 6-P4 R1/8117 1 49| 8 |19 30 [4.2]155]| 27 [ 155|255
ZW-Y 66-0-P4| 6 | 6 |375(175[175[125(26 |4.2|135]|255|175] 14 [135[10.5 ZW-Y 8- 8-P4 8 |R1/4[17 [ 52|11 [ 19|30 |4.2|155] 27 [155|25.5 z;f*
ZW-Y 88-0-P4| 8 | 8 [405[19[19[145]30[4.2{155]27 [19[15[155] 23 ZW-Y 8-10-P4 R3/8| 17 [535] 12 | 19 [ 30 | 4.2 [155| 27 | 155[25.5 °31§
ZW-Y1010-0-P4 | 10 | 10 [48|215|215(175]| 36 (4.2(185|30 (22|18 |185| 38 ZW-Y10- 8-P4 R1/4| 191595 11 |215| 36 |42 |185]| 30 | 185]| 35
ZW-Y1212-0-P4 | 12 | 12 |53 |23 (23|20 [41]4.2(21[32|24[195|21| 50 ZW-Y10-10-P4 | 10 |R3/8[ 19 |61 [ 12 |215]| 36 [4.2|185) 30 [185]38.5 1
ZW-Y 64-0-P4| 6 | 4 |[375|175[16|125|26 |4.2|135[265]|175[ 14 [135| 5.4 ZW-Y10-15-P4 R1/2122 |64 | 15 ]21.5|36 [4.2 185/ 30 [185] 38 =1
ZW-Y 86-0-P4| 8 | 6 |405[19[175[145[30[4.2|155|27 |19 [15[155[14.3 ZW-Y12- 8-P4 R1/4| 22 |645| 11 |23 |41 (42[21[32|21|37 I»
ZW-Y 108-0-P4 | 10 | 8 |48 |215[19[175[36|4.2|185|30 |22 |18 [185[21.1 ZW-Y12-10-P4 | 12 |R3/8[ 22 [ 66 | 12 [ 23 |41 |4.2| 21|32 |21 37
ZW-Y1210-0-P4 | 12 | 10 |53 |23 [215[20 [41|4.2|21|32|24|195]21[35.5 ZW-Y12-15-P4 R1/2| 22 |69 | 15| 23 [ 41 |4.2 32 | 21| 405
CKD 54

lalolloxie Bl

Iclc 2ix

0K

©
nE

[is

N
2
-3
0=

o
1X

I¥

Iclc bol IS

k

A
Ol

Bl

L]

lalollo



ZW'P4 Series

Y olE K45 HEZIY(R 24)-FYH(R £4) 23 YH(R 24 HE2HY

Series

HE2HE(R #4) FY®(R #)
@ZW-TR[I-[J-P4 @ZW-FY[-[1-P4
e
Hozu
o
% %ﬂw N - F - = D - F
Kk P
3 - . aC 4‘—>‘
LIS P
M # ik
oR ! Q%“\
T oF
<l - - —— =
L»
=
~N
Ho M5 Etel
=
14| o
L | L c F 79 | ey azd L|L(A]|B]|C
3 | HER s
;n ZW-TR 4-M5-P4 . 22519 [3.4[16 [ 10 [42] 11 [75[2.5] 4.3 ZW-FY 4-M5-P4 1508 10 [ 21 [235[3.4[ 16 [10] 21 [3.2[ 11 [18[155] 11
= ZWTR 4-6P4| 4 [R18] 10 [265[19| 8 |16 [ 10 [4.2] 11 [7.5[2.5[ 4.5 ZWFY 4 6P4| 4 [RIB[10[25(285] 8 [16[10]21]3.2] 11]18]155] 11
o ZWTR 4- 8P4 Ri4| 14 30 [ 19| 11 [ 16|10 [4.2] 11 [7.5|2.5[ 45 ZWFY 4- 8P4 Ri4| 14 [285(235] 11]16[10] 21]3.2] 11]18]155] 11
ZWTR 6M5P4  |Ws8] 14 | 25 [215]3.4 [17.5]12.5]4.2[135]8.5]2.5] 4.3 ZWFY 6-Ms-Pa]  w0e] 14 [23]273.4]175[125] 26 [4.2[135[225] 17 [135[ 2.5] 4.
ZWIR 6 6P4| o [R1B] 14 [ 30 [215] 8 [17.5]125[4.2]135[8.5] 4 [10.5 ZWFY 6 6P4 | o [RE[14]28]27] 8 |175]125] 26 |4.2[135225] 17 [135] 4 | 105
& _ZWTR 6 8P4 Ri4| 14 | 33 [215] 11 [175[125]4.2[135]8.5] 4 [105 ZW-FY 6 8P4 Rik[14[31]27] 11| 175]125] 26 [4.2]135[225[ 17 [135] 4 [10.5
fie ZWIR 6-10-P4 R38| 17 [345215] 12 [17.5]125/4.2|135(8.5| 4 [105 ZW-FY 6-10-P4 R38| 17 [325] 27 [ 12 175]125( 26 [4.2[135(225[ 17 [135] 4 [ 10.5
S ZWIR 8- 64 R18| 17 [325] 24 | 8 |19 [145[4.2[155[9.5] 6 [23.5 ZW-FY 8 6P4 Ri8[17[305[29] 8 [19]145[30(4.2[155[265[ 18155[ 6 | 23
ZWTR 8- 8P4 | 8 |[R14| 17 [355] 24 | 11| 19 [145]4.2[155]9.5] 6 [23.5 ZW-FY 8- 8P4 | 8 [R14[17[335]29]11[19[145]30(4.2[155265] 18155 6 | 23
ZW-TR 8-10-P4 R38| 17 |37 [ 24 | 12| 19 [145]4.2[155[9.5| 6 [23.5 ZW-FY 8-10-P4 R¥8[17[35[29] 12 19]145 304.2[155[265] 18 [155 6 | 23
ZW-TR10- 8-P4 R14] 19 [395]275] 11 [215[17.5]4.2[185] 13 | 8 355 ZW-FY10- 8-P4 Ri4[19]375(33[ 11 215|175 36 [4.2]185[315] 20 [185] 8 |34.4
ZW-TR10-10-P4 | 10 [R38| 19 |41 [275] 12 [215[17.5]4.2[185] 13 | 8 [35.5 ZW-FY1010-P4 | 10 [R38[19[39(33 [12]215[17.5] 36 |4.2[185[315] 20 [185 8 [34.4
ZW-TR10-15-P4 R12| 22 | 44 [215] 15 [215[17.5]4.2|185] 13 | 8 [35.5 ZW-FY10-15-P4 Ri2|22[42[33[15]215]175[ 36 |4.2]185[325[ 20 |185] 8 |34.4
Y 2W-TR12- 8-P4 R14] 22 [415]30 | 11 [ 23 [ 20 [4.2] 21 [ 14 [8.5[37.5 2W-FY12- 8P4 Ri[22]395[355] 11]23]20[41[4.2]21[37[215]21]8.5] 37.5
R ZWTR12-10P4 | 12 [R38] 22 |43 [ 30 [ 12| 23 | 20 [4.2] 21 | 14 [8.5]375 ZWFY12-10-P4 | 12 [R38[22[41(355]12]23[20]41]4.2[21]37|215][21[8.5]37.5
’fﬂ* ZWTR12-15-P4 R12| 22|46 |30 | 15 | 23 [ 20 [4.2]| 21 [ 14 [8.5[375 ZWFY12-15-P4 Ri2| 22|44 [3%5] 15| 23] 20| 41]4.2[21[37][215]21[8.5| 375
ot = s <
| 23 YH(REH) Bl Sty
@zW-WY[J-[J-P4 @ZW-TR[I-0-P4
z
@
=
1]
(3
T
0
=0
L 4
=3
N -
— v
ENY
~N
S
=
3 _F
Ok = =
T iy
25 "d
KF .
o s |38 1 c ZW-TR 4-0P4[ 4 .
Ho wa 930 ZW-TR 60-P4] 6 | 215 | 175 [ 125 | 42 | 135 | 85 [4[95
Rl GT zwwya 6paf[R18[ 14 [475] 8 [16 [ 102132 ZWTR8-0P4| 8 | 24 | 19 | 145 | 42 | 155 | 95 | 6 [125
ZW-WY4- 8-P4 Ri4] 14 [505] 11 [16 [10 [ 21 [3.2] 22 [155] 11 [ 9.7 ZW-TR10-0-P4] 10 [ 27.5 [ 215 | 175 | 42 | 185 | 13 | 8 [295
ZW-WYe- 6-P4| 6 |Ri8[ 17 [515] 8 [17.5[125] 26 [3.2| 27 | 17 [135] 23 ZWTR12-0P4| 12| 30 | 23 | 20 | 42 | 21 1410355

542 CK



ZW'P4 Series

ol X

Q8 X2 FYd-23 YH - L EE(UE R 21
FY¥d 28 VY

@ZW-FY[]-0-P4

@ZW-WY[]-0-P4

IO
&g
- D =
- F > P N P
- - i
i
; | | ‘ ‘ N
. — —— = i ! !
i ‘ i c ] il ]
m v %] [ U z _ Lzruﬁ
o I i | i _L i | i ol - S
— Il ‘ Il 1 Il 1 1 [S]
¥ [ [ \| [ y Y
Lr + N
\ __ar i ~ E =®
W= = S
| B L _
- B G
L4
Hew 2| on
2| om . | L1 | L2 (o 2 | croim
LIEY] X mm?
ZW-FY 40-P4 | 4 |175|235| 16| 10|21 |3.2| 11| 18 [1565] 11 [2.5] 4 T2 0|7 o 88
ZW-FY 6-0-P4 | 6 |195]| 27 |17.5|125| 26 |4.2|13.5|22.5| 17 [135] 4 | 10 i L|Bi|B2|Ci|C2|D|E]|F|N]|P HE? fmlu
ZW-FY 8-0-P4 | 8 [ 22|29 |19 [145| 30 [4.2|155(265| 18 |155| 6 | 21 ZWWY64-0-P4 6 4 39 11751 16 11251 10 121 1321 22 11551 11 m S
ZW-FY10-0-P4 | 10 |255| 33 [21.5]|175| 36 [4.2|185|31.5] 20 |185| 8 | 29 ZW-WYBG-O-P4 8 6 143 1é 75 14'5 725026 3'2 o7 1'7 350 22 o
ZW-FY12-0-P4 | 12 | 28 |355| 23 | 20 | 41 [4.2]| 21 | 37 |21.5] 21 | 10 |35.5 = o - - - - .
i
W
2 HUBE(42 R 22 .
@ZW-C[1-P4 @ZW-MF[I-[1-P4 ;:
IT
=
S
=
QN8 5297 -
H _ B
L
- M it
9)
Q
—l______ L] A
. o I y _
_______ L1l [S]
— \ > ;
Z" _ - _LTJ_
o) - I
B £
F
A p \ 2-g4.5 <F.
N2
3-Q: M8 RHE 2/F
_ L+
1
>m
024
e 483 27 o oC L st 72 M
S Li| L2 © CHH X
ZW-C 4-P4 4 16 10 18 Q1 q2] mn S
ZW-C 6-P4 6 17.5 12.5 19.5 ZW-MF 46- 6-P4| 4 | 6 |R18|14|725|185| 8 |16 [17.5/125]135[105(39 [105| 8.3 6')5%
ZW-C 8-P4 8 19 14.5 21 ZW-MF 48- 8-P4| 4 | 8 [R14]| 17 [775]195| 11 [16 |19 |145[155[11.5| 39 [105] 242 1>
ZW-C10-P4 10 21.5 17.5 24 ZW-MF 68- 8-P4| 6 | 8 |R14[17|845(21 |11 |175[19[145]|155(11.5|465| 13 | 24.2
ZW-C12-P4 12 23 20 26 ZW-MF810-10-P4 | 8 |10 |R38| 19 ]97.5|235[ 12|19 [215]175]185] 13 [52.5| 15 | 35.5
CKD s

lalolloxie Bl

A

Iclc 2

ok

A

i3

ivim l¥lc

o
41X

I¥

Iclc bol IS

A
Ol

4%

E

L]

lalollo




ZW'P4 Series

rs ECRESIL NSNS I Y

Series

DLIZE(A2) I 2|17M
@ZW-MF[1-0-P4 @ZW-S[I-[]P-P4
20
Hozu
2-Q: Mg BEH 9|F L
E B2
O Ul
gmi o B
KF S}
a s I g 88
&1 = MH---- h 1 --4- : o
ik N PN Nl iy | (D all
Mo = NGNS z N A 6 bt o 1
& L ey — LTI NI -
N
Z= === - — -+ 1
adi ‘ H4 1%
2-04.5 «F
J)
— 3-Q: Hg RE oF
N
N L
o
7l
|
3 L (o]
ot
a) ZW-S 4- 6P-P4 35| 21 | 16 | 10 2.3 35
ZW-S 4- 8P-P4 404 [ 215( 16 | 10 3 5.6
ZW-5 4-10P-P4 42 [205] 16 | 125 3 5.6
ZW-S 6- 4P-P4 42 [ 26 [175]125] 23 35
WS 6 8P4 | 41 | 22 [175] 125 4 10
ZW-S 6-10P-P4 10 42 [ 20 [175[125]| 4 10
ZW-MF 46-0P4 | 4 | 6 | 64 |185] 16 |17.5[12.5[13.5[10.5] 39 [105] 7.9 ZW-S 6-12P-P4 12 44 | 21 | 17.5] 145 4 10
ZWAF 480-P4 | 4 | 8 | 66 [195] 16 [ 19 [145[1555[11.5] 39 [10.5] 22 ZWS 810PP4 | o 10 [445[225| 19 [145]| 6 22
ZWF 68-0-P4 | 6 | 8 | 73 | 21 [17.5] 19 [14.5{155[11.5[46.5] 13 | 22 ZW-S 8-12P-P4 12 44 | 21 | 19 | 145 6 22
ZWMF610-0-P4 | 6 | 10 [785] 22 [17.5[215[17.5[18.5| 13 [46.5] 13 | 30 20-510-12PP4 | 10 12 48 | 25 [215|175]| 8 30
ZWMF810-0-P4 | 8 | 10 [84.5]235] 19 [215[17.5[18.5] 13 [52.5] 15 | 30 Z=1: M4 IE0] CKD MIZ(ZW-P4 A|2| =) o] x|elL|ct.

L5 2E 9 BE 2|AE

718k B 77|

a1
=

AtojziA

X

3

KO o

=0
il \e I I

]

% 1| =HE iEil?_'Elﬁ%* ]
Zo|fEl E|Y T 0| E(HHAM 4X|F2)

S 2 | AASLIO|ER 1122

. 3 |Med Za|ofe|2 M=

% 4 A A[Ql2|A

& 5 |FME Za| 21 Hja| TS 0| E (L 4X|F2)

. 6 |OIREE Agolg|AZ

T i 7 | HYUE AB|olajAz

g 8 |Oo%¥ Lio|EZ 12

3 F1: W AEH0|E, U3 s|=9| 2= Aol AZALICE

il

o e 0. ULO4 77 V-0 Alet

&l B

544 CKD





